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E Grey line: exponential fit Peak flux: 2.303+/- 0.383 c/s/cm? E
E Black line: power law + gauss fit Fluence : 14.33+/- 3.64 c/cm? E
F Dashed line: power law o ) ) ]
- Duration: 15.94+/- 4.34s .
= Best fit model: 1. 3
- Best fluence model: 1. 7
= Best duration model: 1. =
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— Power law fit plus Gaussian (st.dev.= 5.69+/-19.41 s, fracgs= 0.02+/- 0.06) =
- Power law index: -2.145+/- 0.557 (chi*-red= 0.81) 3
= * | i AN : -
= ‘+*wwwﬁ%# W *****+*+*++**Hﬂﬁﬁwm* +*HﬂﬂﬂiﬁwﬁﬂwHﬁ mw#wZWﬂﬁ%ﬂwﬂw Wﬁm %*+**+*#**Hﬂﬂﬂ%+ﬁ+%*+**+++++*++++**+**+*%+**+**{**+**++*++*++*+*****u**ﬁﬂHH*+ﬁ+**+**++ﬁﬂwwmﬁ%
= =
E | I | I I | I I E

0 100 200 30

Time [s]

0



